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Tdienelf Gauem 3UA YgH-us W A AfaEa: forEl

Candidate must write first his / her Roll No. on the question paper
compulsorily.

At T 7w afer §

All the questions are compulsory.

ek U9 T ST & TS I-YfErert § g ford|

Write the answer to each question in the given answer-book only.

o ugat % srafter @ug §, 37 At &% I v § ford|

For questions having more than one part, the answers to those parts are to
be written together in continuity.

TY-UA o &< 9 SIS TR | et gehr R e / o / ferienwm g w =
% T I TE A

If there is any error / difference / contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated
valid.

U9 ShHETR 16 | 22 | Sdites farehed g

There are internal choice in Q. No. 16 to 22.
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G ug - A
SECTION - A

Fgfaehedt 7o
1) = ueAi & s o wE foshew wem o SRy | fafRa -
Multiple Choice Questions -
Write the correct option of answer of the following questions in the answer book-

i) Fe+HO — Fe,O, + H,

Ik Atk <t dgfera wefeRtor @ H, = Totiess grm - [1]
(e0) 1 @) 2
® 3 ) 4

Fe + HZO — Fe304 + H2

Coefficient of H, in balanced equation of the above reaction will be -

(A) 1 B) 2
© 3 (D) 4
i) such H Sufeda o7 8 - [1]
(37) StiAfeTeR 3TeeA (F) eefen s
(|) Wik s (3) HE St
An acid present in tamarind is -
(A) Oxalic acid (B) Tartaric acid
(C) Lactic acid (D) Methanoic acid
i) e sifees a1 o1 @ - [1]
(31) ekl (@) e
(®) | (3) wifeT™
The best ductile metal is -
(A) Mercury (B) Lead
(C) Gold (D) Sodium
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iv) RIS STFc | UM Jehiaicieh T9E ¢ —

V)

(1) -OH () —l(lf—
O
/H
() —C\ () —ﬁ?—OH
O O
Functional group present in Carboxylic acid is -
(A) -OH (B) —C-
O
/H
) -C (D) —-C-OH
N Il
O
S § W Ueh A S WRT 8, St Tafed g —
(31) diwur (F) I
(@) v (3) ufEreroT
The lungs in human beings are part of the system for -
(A) Nutrition (B) Excretion
(C) Respiration (D) Circulation

Vi) UEEae it forgsA SiAd RIeRT | gan 27

(1) SREG= (F) wrEErhtga

(|) ERderEs (8) =

In which cell organelle does the breakdown of pyruvate occur?
(A) Cytoplasm (B) Mitochondria

(C) Chloroplast (D) Nucleus

vil) wFE STa:ETE Ut YRR Fi gig o foTe sutrem i fHama S 3 e

(31) v it (%) emerize Ut

(|) Tme Ut (3) F=awE

Which endocrine gland regulates metabolism for body growth?

(A) Pituitary gland (B) Thyroid gland

(C) Adrenal gland (D) Pancreas
S-07-Science
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Viii) GHe gRT SRR i fohe™ gt 87 [1]
(31) owiten (@) =S
(|) wivHiteT™ (8) et
In which, asexual reproduction takes place through budding?
(A) Amoeba (B) Hydra
(C) Plasmodium (D) Leishmania
ix) freafafea & @ g @erot = @ fTewmea g | [1]
(37) o aun giier Sa (F) = a0 M S
(@) <& aen M s (8) o4 aun Plier s

Which of the following is the correct option for the dominant traits.
(A) Tall and wrinkled seeds (B) Short and round seeds
(C) Tall and round seeds (D) Short and wrinkled seeds

X) U SAlth UAA UUT € 5 Hiet X @1 ¢ | SATth a1 3Hek Nidfara o i gt Hiex §

2 - [1]
(31) 2.5 (=) 10
=) 15 (® 20

A man is standing a 5 meter away from a plane mirror. The distance between
the man and its image in meter will be -

(A) 2.5 (B) 10
(©) 15 (D) 20
Xi) R STUS Sl T § afe sin i = ¢ 3R sinr = d & A uedAs () @ - [1]
d
() pu=cd ) ==
C
@ n=g @ p=-+/cd

In the phenomenon of refraction of light if sin 1 = ¢ and sin r = d then
refractive index (p) will be -

d
(A) u=cd (B) H=7
C
© F=3 (D) pu=+cd
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xii) freifera o @ o T @1 aeed arfereran @ -

(31) diem (@) @

(|) S (@) =@

Which of the following colour has the maximum wavelength -
(A) yellow (B) red

(C) violet (D) green

xiii) o g Frvgerrenm frew 3 fora foreer i & -

amafea
fereor
(&) r () e
@) vy () i
The angle of deviation for the given triangular prism is
P

incident emergent
ray ray
Q R
(A) 1 (B) e
©) vy (D) i

[1]

[1]
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Xiv) =¥e] ferga uftuer # amra: foga alte (Suewwmn) w e e o Sied § - [1]
(31) haet SufieA |
(F) @ W (FETR) A °
(@) i e (FHiR) Fa 9 Soft wa §
(8) & e (AEiR) F\ A R T H Svferw §

In which order are the electric appliances (instruments) generally connected
in the domestic electric circuit -

(A) only in series
(B) only in parallel
(C) both in parallel and in series

(D) neither in parallel nor in series

XV) WRAfH ok AEE (ST grer) fem o forg W R - [1]
(31) wemm - gahE g7 i favn fr el
(@) et - forega o @ o @ ain
(|) SIS - =TeTeh <t TIfd <t e A 3R
(3) Sudeh @t
True for a Fleming's Left - hand rule :
(A) middle finger - towards the direction of magnetic field
(B) fore finger - towards the direction of electric current

(C) thumb - towards the direction of motion of conductor

(D) all of above
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frer T 1 of Fifm -

Fill in the blank places -

i)

e oh ALATTEA | UAIS TR Hh & 16! T BT AH .o, 2 [1]

Name of the gas released on anode in the electrolysis of water is

ii) HNO, % foeiem & T TR o TR G . 2 [1]
Chemical formula of anion obtained by the dissociation of HNO, is

iii) CH, 1] # Sufera gaarseh JEel Sl TC ... 2l [1]
Number of covalent bonds present in CH, molecule is

iv) &E % SR ST TR T SRR — S T 3 R s sl (1]
The inner lining of the small intestine has numerous finger - like projection
called as

v) wigedt | FEsu qen aHe e st Sk g feRan s 2 | [1]
In animals, control and coordination are provided by and muscular
tissues.

vi) FaddyrmRis@smad ............. m/s T | [1]
The value of speed of light m/s in vacuum.

vii) Ferz - gf 3 FEROTH oo St ot g 2 | 1]

lens is useful in correcting nearsightedness.
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HAfATRICH W9 (T <Rl ITR T Ieg A1 U Uikt | fefag 1)

Very short answer question (Answer the questions in one word or in one line.)

i)

iii)

1v)

Vi)

vii)

e § atan o wner ffs gt ang el | [1]

Write name of the second metal mixed with copper in bronze.

e, dreiyrem qen ois ® § oE wteh TR UTg ot AW fefan | [1]

Select and write name of the alkali metal among zinc, potassium and lead.

CH,-CH,-CH,-Br =t am feifem | [1]
Write the name of CH3—CH2—CH2—B1‘.

I IS g i TGadl | UTEn ST g ? [1]

Which animals have three chambared heart?

T A ITE W T @ g g ? [1]

What is sensed from gustatory receptors?

3 AT A Hehieeh AT % 9 felau | [1]

Write the name of two virus borne infectious diseases.

Heet o 0T <h SO & TN H F| i | ma ditei | e el w6 srqar / ferd
oar | [1]

In the experiment of Mendel's law of inheritance, the proportion / percentage
of tall plants obtained in F, progeny was.

S-07-Science
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viii) araaer ador % wiE 8 suEm fakau | [1]

Write two uses of a concave mirror.

ix) SRt & fagmur S R ik | [1]
Define dispersion of light.

x) UNEP = ferargge fofau | [1]
Write the full form of UNEP.

g - 9
SECTION -B

YIS T : T G 4 ® 15 & IW Wy # foRau | (wsg @i 50 wisg)

Short answer type question-Write the answers of question number 4 to 15 in
answer book (Word limit 50 words)

4)

S)

6)

NaHCO,  + HCl, — [X] + H,0, + CO

220 2(g)
ST ATHTRN | Hifres [X] o1 TEEHS A 9 93 feRau | [2]
NaHCO3(S) + HCl(aq) — [X] + Han) + COZ(g)

Write chemical name and formula of compound [X] in above reaction.

‘“Vepfufem arg W v i R 9 gegem fmaad g 17
SURITH O oh TERTIET Udigiut & foTu Tgeh Sushiut st fafa ik | [2]
"Hydrogen gas is obtained on the action of steam on aluminium metal".

Draw the systematic equipment used for laboratory testing of above statement.

s A C H) # n = 2 W@ W I it @t T & g9 fafg | [2]

Write name and formula of compound obtained on putting n = 2 in general
formula C H, .
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7) ATEEIeH U] R Seierg fag we @t fafa R | [2]

Draw electron dot structure of nitrogen molecule.

8) mifRius FReaT AR 1 HRUT THIET | [2]

Explain the reason for adopting contraceptive devices.

9) f SfiFterzy Ik i & are we feafam |

i)  RRyy
1m 1YY
[1+1=2]
Write the external feature of the genotype of following seeds.
i) RRyy
1m 1YY

10) =g foega ea 220V o WA § 9t ¢ | af¢ doa 8 1A e 9w yaiea gt @ i 5o i
Ik T 37 [2]

An electric bulb is connected to a 220 V generator, if the current flowing in bulb
is 1A. What is the power of the bulb?

11) f= ufiwer e & A @ B & wea geg iRy s A | [2]
40 40

AWM ——
4Q

W,
8Q

Find out equivalent resistance between the points A and B in the following
circuit diagram. 40 40

VMM ——— AW ——
4Q

— MWW ——— ———oB
A

8Q2

S-07-Science
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12) us B gk & fore g & Wit o s s | [2]

Draw a magnetic field lines of a bar magnet.

13) TRt YRTeTdl SRR Uy gRT I Gehia & 3@ Teiia it | [2]

Represent the magnetic field lines of a current carrying circular loop.

14) uiiids & S4, T gl o ai—al I0T ke | [1+1=2]

Write two examples of each biotic, Abiotic components of ecosystem.

15) argHee # ifeRiieH A 3 T i foranfafer awems | [2]

Explain the mechanism of formation of ozone from oxygen in the atmosphere.

g - §
SECTION - C
el ITOCTR W : T EE 16 @ 19 % W Iy # folem | (v w100 vs1)

Long answer type question-Write the answers of question number 16 to 19 in
answer book (Word limit 100 words)

16) i) Sidl o AW | SUREA Uarel o1 TEmEfHe AW fRau |
ii) ¥g ¥ pH uitad o HRUT 3 — &7 HH TR Tl g ? THEAs |
[1+2=3]
1)  Write chemical name of substance present in tooth enamel.
i1) How tooth - decay get started due to pH change in mouth? Explain
Faa/OR
i) oncia aul i gRwING it |
i) enfeaes siferATEE R Ui o I 2id & ? eS|
[1+2=3]
1)  Define acid rain.

11)  Why metallic oxides are basic in nature? Explain.

S-07-Science 1603 [ Turn Over



17)

18)

19)

12
3 UTey g o AW fIRau qen uedes it i anEEu | [Vo+Vat+1+1=3]

Write the names of two plant hormone and explain the function of each.

3ar/OR

sravier (Rraea) =t uftenfya Sifsre aen e v (RRI) % s guia HiR |

[1+2=3]
Define synapse and explain functions of neuron.
rHten @ et | fgeea o fom == | [1V2+1V2=3]
Draw a diagram of binary fission in Amoeba and Leishmania.
Frar/OR
g i 31Faed e T AITha fo TS | [3]

Draw a labelled diagram of longitudinal section of flower.

i) Torega ufw wt aRefem RN |

i) omm o fFem = wem feifau |

iii) 37w o fFem # foega favarm (V) wa foga o (1) & 959 W (31@) 913 |
[1+1+1=3]

1)  Define electric circuit.

11)  Write statement of ohm's law.

1i1) Draw a graph between potential difference (V) and electric current (I)
according to ohm's law.

S-07-Science
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iii)

ii)

iii)
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AAat/OR

fore oo 1 wReTRE BT |
1kWh =1 7 5 ® forfRam |
Frrifera Forea st 3 TR 7T |
AN) Tre@aw
) Fed
[1+1+1=3]
Define electric potential difference.
Write the value of 1kWh in joule.
Make symbol of the following electrical components.
a) electriccell
b) battery
e - g
SECTION -D

Feareamers v TR W 20 | 22 & W Iwyfaer | fafen (s dim 250 weR)

Essay type question-Write the answers of question number 20 to 22 in answer
book (Word limit 250 words)

20) 1)

ii)

iii)

i)

ii)

iii)

HEIRUT it URWITN HRTT |
% + ww Tehe — R Tethe + SN
TR YTeg — TRl o foru wqfera wemates e faftau |
T o TRV <ht ST | feer FAiss o fodlie o weyi o fotu soatea sueton i
fafa it |
[1+1+2=4]
Define corrosion
Zinc + Copper sulphate — Zinc sulphate + Copper
Write balanced chemical equation for above word - equation.

Draw the systematic equipment for exhibition of decomposition of silver
chloride in presence of sunlight.
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21) 1

ii)

iii)

14
Jgar/OR

FEd T AR @ aRTia SRR |
T Gethe + ITH FAREE — JEH Tothe + AIiEaH FaNEs
TR 15 —THiehtuT o foTu Tgfera Temafes dvieRtor foRau |

Hifeaw Tethe aA1 SRaH FREs o Hed fgfaremum sififshan o uevi & oo safem
IueRtuT <kt Tafem hifsTu |

[1+1+2=4]
Define exothermic chemical reaction.
Sodium sulphate + Barium chloride — Barium sulphate + Sodium chloride
Write balanced chemical equation for above word - equation.

Draw the systematic equipment used for exhibition of double displacement
reaction between sodium sulphate and barium chloride.

TS U0t e femaTst gt # 3 33 SHeE |
e qreFds eht TTEET ol ATHIfeRd Fors S413U |
[2+2=4]

Explain the two differences between autotrophic nutrition and heterotrophic
nutrition.

Draw a labelled diagram of the structure of human digestive system.
3rar/OR
Srte | YU SHeeu |
THiE | UIHUT SRt €T AT ATTohd o TSy |
[2+2=4]
Explain the nutrition in Amoeba.

Draw a labelled diagram showing nutrition in Amoeba.
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22) i)

iif)

15
fereht mefar gdur & fore smash & g fofan |

Tiefta quut % ferg guun g feria |

3 T Tt g S e g8 28 om 3 @ Sah! Sshe e T B |
[1+1+2=4]

Write the formula of magnification for a spherical mirror.

Write the mirror formula for a spherical mirror.

If the focal length of a spherical mirror is 28 cm then find its radius of
curvature.

3rar/OR
fereht Mefia & & fore smas @ gx fafam |
4 A e A aienfya Rk |
afe Tk o wieE gl 100 cm R A 36 el 7 i |
[1+1+2=4]
Write the formula of magnification for a spherical lens.
Define the power of lens.

If the focal length of lens is 100 cm then find its power.

636 5h
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